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64.

|0 Keulenberg—Il Strauch—34 Raschiitz.

10} Keulenberg = 19" 39 15.6118 — o0'00gs — (126) 4+ (1:28)
11 Straunch F 86 58 137.5686 4 o.o0209 (138) 4 (147)
34 Raschiitz = 73 22  7.9065 — o0.0156 — (410) + (413)
Summe = 180 o 1.0860 — o0.0002
180" - & — 180 0 o.8971
+ ©0.1808 0.0002
o = < oTr8gb — (126) 4+ (128) — (138) 4+ (147) — (410) + (413).
B5.
10 Keulenberg—Il Strauch—I18 Colim.
10) Keulenberg 26 64 34-4709 0.0044 — (128) + (128)
11 Strauch = 133 59 6.5319 4 zzr — (138) + (133)
18 Collm == 20 © 20.6806 — 21 (258) + (261
Summe 180 o 1.0834 0.00gH6
180" + £ - 180 © 2.3408
— 0.6574 0.0006
o = — 0.6478 — (125) + (r28) + (133) (138) — (258) 263)
66.
10 Keulenberg—I2 Baeyerhohe—29 Buchberg.
10 Kenlenberg = 31 28 2.6532 — o.o127 — (122} + (124
1. Baeyerhiihe 8 & 12.8666 + 43 — (169) + (170)
29 Buchberg =3 140 23  46.4379 4 159 — (349} 4+ (353
oumme = 180 o 1.05877 0.0073
[80" 4 & 180 o 0.429%
' 5280 + D.007§
O = - 1:§355 — (122) 4 (124 16g) + (170) 149) 353)
68.
|0 Keulenberg—29 Buchberg—32 Quersa.
10 Kenlenberg — 16 55 2.b145 — o.ooz3 — (124) + (127)
29 Buchberg — 154 52  4-3866 + 21 — (358) 4+ (349)
HE"'-.J'LIE}I'HEL = b [ 2 £1-577 11 — |!|'5i1r1'| —_ ‘_.;"ﬁ'"-
Snmine = 179 §9 §B8.5782 + o.0029
180" + ¢ 180 © 0.1581
1.5799 o.0029
o = = 175770 — (134 + (327) + (349) — (358) — (386) + (387
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